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1. There is a computer that has an average instruction execution time of 20 nanoseconds.

What is the performance of this computer in MIPS?
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Which of the following is the approximate availability of the entire system in the figure
below? The availability 1s calculated by rounding off to two decimal places. The numenc
value within parentheses is the availability of each device, and the system 1s available when
two or more of the devices connected in parallel are operating in the left part (device 1 to 3)

and one or more of the devices connected in parallel 1s operating in the right part (device 4 to

5).
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a) 0.65 b) 0.81 c) 0.94 .99

Devisel~3 OFEIE 231 — (1 -0.9)(1—0.8)(1—-0.9) =1—-0.1x 0.2 X 0.1 = 0.998.
Devise4~5 OF#ZE 251 — (0.9)(0.9) =1 — 0.1 x 0.1 = 0.99.
L 72285 CT4KT130.998 X 0.99 = 0.98802 = 0.99
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6. A system is planned to be operational 22 hours per day. However, there are two (2)
failures with downtimes of 0.5 hours and 1.5 hours in 100 days. Which of the following is the
approximate MTBF of this system during the period in hours?

a) 0.00091 b) 1.0 c) 2.0 100
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